
BKS CLASSIC GUILLOTINE SINGLE GLASS CALCULATION AND SAMPLE STUDY (WIDTH: 3000 X LENGTH: 2500)

Glass Height: 2500 - 238 = 2262 / 3 = 754 + 13 = 767 

Glass Width: 3000 - 114 = 2886 

Clamp: 3000 - 154 = 2846

Glass Height: 2500 - 247 = 2253 / 3 = 751 

Glass Width: 3000 - 114 = 2886 

Glass Height: 2500 - 238 = 2262 / 3 = 754 + 1 = 755 

Glass Width: 3000 - 114 = 2886 

Clamp: 3000 - 154 = 2846

Drum: 3000 - 65 = 2935

Main Prole and Cover: 3000 - 10 = 2990

Handrail: 3000 - 160 = 2840
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Base: 3000 - 154 = 2846

Clamp: 3000 -154 = 2846

Clamp: 3000 - 154 = 2846
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Bottom Case: 3000 - 46 = 2954

B
a

se
: 

7
5
5
+

4
0
=

7
9
5

S
id

e
 K

. 
B

o
tt

o
m

: 
7
5
5
 -

 7
 =

 7
4
8

S
id

e
 K

. 
B

o
tt

o
m

: 
7
5
5
 -

 7
 =

 7
4
8

S
id

e
 K

. 
To

p
: 

2
5

0
0

 -
 1

7
9

 =
 2

3
2

1
 -

 7
4

8
 =

1
5

7
3

S
id

e
 K

. 
To

p
: 

2
5

0
0

 -
 1

7
9

 =
 2

3
2

1
 -

 7
4

8
 =

1
5

7
3


